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FMC Engineering Ltd is a medium sized company in the secondary sector.

(@) What is meant by the secondary sector?
In Fig. 1 below, put a tick in the correct box.

Put a tick in the

The secondary sector:
correct box

provides services to people;

extracts raw materials;

manufactures goods.

Fig. 1 [1]

(b) Jane King is the Sales Manager of FMC Engineering Ltd. She wishes to satisfy the needs
and wants of her customers.
Fig. 2 below has three statements about needs and wants.

S:]elljtrenrggrnt Needs and wants are:
1 the basic essentials that people require;
2 the cost of buying one good in terms of another good;
3 those goods that people would like to have.

Fig. 2
(i) Which statement in Fig. 2 describes needs?
Statement number ..........ccccoeiieie i, [1]
(ii) Which statement in Fig. 2 describes wants?
Statement number ... [1]

(iii) Explain why firms produce goods that customers demand.

2321/1 Jun06

For
Examiner’s
Use



3 For
Examiner’s
Use

() FMC Engineering Ltd uses Computer Aided Design (CAD) and Computer Aided
Manufacturing (CAM) in its work.

Explain two advantages to a business of using CAD and/or CAM.

...................................................................................................................................... (4]
(d) FMC Engineering Ltd uses the division of labour when producing its goods.
(i) Complete the following sentence using two of the words listed below.
break even efficient segment specialise
Division of labour is where work is organised so that workers can
.............................. and become more ..............eeeeeeeee. [2]

(ii) Choose a business you have studied.

N E= T[S0 i 018 £ g =T T

Recommend whether the division of labour would be suitable for your chosen
business. Give reasons for your answer.

[Total: 17]
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David Barber is the Human Resources Manager of Oakenbow Hotels plc. He wants to recruit

a new restaurant manager.

David has prepared the following advertisement for this position.

Oakenbow Hotels plc
Seeks

Restaurant Manager

This small, but forward-looking, hotel company is looking for a dynamic
and adventurous restaurant manager. Experience is essential. All employees
are given regular training opportunities.

Apply to David Barber, HR Manager, for an application form, job description
and person specification.

Oakenbow Hotels plc, Caton Lane, Hornly, NZ4 2EF.

Davidbarber@oakenbow.com. 01524 45665. www.oakenbow.com

Fig. 3

(@) In Fig. 4 below, draw three lines to match the terms from the advertisement with their

descriptions.

Term

Application form

Description

This sets out what is involved in the work.

Job description

This is used by the business to find out
information about the person interested in the job.

Person
specification

This sets out the qualifications and personal
attributes that the post requires.

Fig. 4

3]

(b) Explain two reasons why a business, such as Oakenbow Hotels plc, might offer all
employees regular training opportunities.
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(c) Discuss how effective the advertisement in Fig. 3 would be in attracting suitable people *
to apply for the job of Restaurant Manager at Oakenbow Hotels plc.
...................................................................................................................................... [5]
(d)* David has decided to select the Restaurant Manager by using application forms,
references and interviews.
Choose a business you have studied.
Name Of DUSINESS ..ccoveeeeeeeeeeeeee
Discuss whether these methods would be suitable for your chosen business when recruiting
new staff.
------------------------------------------------------------------------------------------------------------------------------------------ QWC
.................................................................................................................................. [6+2]
[Total: 20]
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Shuo Sang is an electrician. He is a sole trader.

(a) In Fig. 5 below, put a tick against the two statements that are advantages of a sole

trader.

Statement

Put a tick against
the two correct
statements

Can easily raise more capital

Does not have to share profits

Has total control over business decisions

Has limited liability

(b) Shuo Sang is worried that he could make a loss in the current financial year.

Fig. 5

Fig. 6 shows the budget he has drawn up for the next six months.

Shuo’s Six Month Budget

Income

Revenue from sales

Interest from bank deposits
Total Income

Expenditure
Cost of supplies
Salary and wages
Other costs
Total Expenditure

52000
500

11000
34000

6000
51000

Fig. 6

(i) What is the purpose of a budget?

(2]
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(ii) Using Fig. 6, calculate the value of Shuo’s Total Income. Show your working. ¥

(iii) Using Fig. 6 and your answer to part (ii), explain whether Shuo should still be worried
about making a loss.

(c) Shuo runs his business from home. During the day, he is usually out fixing electrical
problems in other people’s houses. Contact between Shuo and potential customers is
very important for his business.

Advise Shuo whether he should rely only on using a mobile phone to run his business.

[Total: 14]
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4 Alex Cronin is the Marketing Manager of RJT plc, a large frozen food manufacturer. He is ¥

reviewing the marketing mix of the company’s products.

(a) Promotion is one part of the marketing mix. State the other three parts.

B e 3]

(b) Alex is considering how to spend his promotional budget. He could:
* spend it all on a television advertising campaign

OR
e split it between newspaper advertisements and special offers on the products.

Recommend to Alex which of these he should do. Give reasons for your recommendation.

[Total: 9]
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If you use the following lined pages to complete the answer to any question, the question number

must be clearly shown.
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